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101|R#A7 L 695 195 500| Kg |EE 1,080 302| & 2,484 432
102|357 L 2,097 2,097| Kg S - BIE 3,791 540
111|&EEF £ 527 31 496| Kg |ERE 1,188 BRE - &4 1,728 432
113|RAV S 263 49 214 Keg |EE 1,188 432| & 3,240 936
114|B5EFE 262 12 250| Kg |ERS 10,800 1296|125 - 8BE 2,538 216
15[ 1= 1 1 Kg FfE 5,400

117[1E 539 195 344| Kg |EE 1,944 108|£f& 3,780 540
21| bl E 41 41 Kg |EkE 702 324

134[#= = 424 260 164| Kg |&)I - £ 2,100 540|FEfE 2,484 1,620
140(5 I 24 24| Kg b 36,000 15,120
147|E2 O 48 48| Kg |EE 12,960 1,622( 8 11,880 6,500
168|BIEH AL H 460 26 434 Kg |EBRS 1,404 R 1,944 540
203|/hd L 130 130| Kg =5 432 351
205|3L8 L 354 354| Kg FfE 792 720
206| = 1F 510 510| Kg X 713 346
207|= A K 32 32| Kg imE 729

208| Mo % 337 337| Kg ML 1,620 594
210{1F AL 360 180 180 Kg |EI& 4,050 1,971 K% 2,970 1,350
212|&5E.3 Y 202 202| Kg E - BB 2,160 1,404
251|< %<3 491 491|  Kg IR 4,050 3,888
252| VA EECH 103 103 Kg |7 2,840 2,624

254|E b ECH 603 603| Kg =] 1,998 648
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305[£Aah 0 13 13| Kg &I 4,860 2,808
315|7:b5 6 19 191 Kg = I 3,132

3191 h o 458 381 7 Kg |EE 896| )= 1,944 919
332\l ®A 231 231 Kg JbF 3,024 2,052
351|4£ 8 76 48 28| Kg |#®& 3,780 %5 9,720 3,726
3541 <Y 14 141  Kg [ 1,404
3/5|HEY 230 2301 Kg FAN 1,620 432
356|L L& 93 93 Kg SER 1,512 90
3577~ E 22 22 Kg FEE 1,782 648
358| KE 30 30 Kg 1,728

401|H W 79 79 Kg Iz & 1,944 1,512
4025 5 &E 44 441 Kg A0 6,480 4,644
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512| A& AL 160 160 Kg b 1,300 810
523| A EARAT 2 O 1,102 1,102| Kg =] 3,840 1,020
54| ARE & 2V 194 194| Kg Bh 1,620 1,350
5h4|E X BA AR 40 40| Kg £[#=2 900 450
558| 70 70| Kg b 1,134 756
560|487 2 229 229| Kg =] 2,680 1,000
576|4R & 1F 96 96| Kg =] 1,836
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AH Y FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)
70110 BA 6,796 6,540 256 Kg |E&E 2,948 1,773| & 2,646 2,160
755(Fd L 8 8| Kg EE 1,553
76l|1b Y AEE 1 1 Kg FJE 12,343
01 [IBAL = 1T 95 95| Kg tmE - mA 2,592 1,250
802|1 x| 10 10| Kg bmE 1,242
8051 1E 3,128 3,128| Kg JbiF 1,269 248
810|FAKF 195 195] Kg bF 3,348 1,350
8lh|—W T AX 50 501 Kg blo ] 734
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